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ORIENTATION PROGRAM  
 

SYLLABUS  
 

Combined Civil Services Examination II – Revised 
Syllabus 

(Interview Posts and Non-Interview Posts) 
 

UNIT-X : APTITUDE AND MENTAL ABILITY 
 

i. Simplification 
ii. Percentage 
iii. Highest Common Factor (HCF)  
iv. Lowest Common Multiple (LCM).  
v. Ratio and Proportion. 
vi. Simple interest  
vii. Compound interest  
viii. Area  
ix. Volume  
x. Time and Work. 
xi. Logical Reasoning  
xii. Puzzles  
xiii. Dice  
xiv. Visual Reasoning  
xv. Alpha numeric Reasoning  
xvi. Number Series. 
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ORDER FOR MENTAL ABILITY TOPIC  
 

i. Speed Maths  
ii. Simplification 
iii. Number Series & Number System  
iv. A.P & G.P  
v. Percentage 
vi. Profit & Loss  
vii. Simple interest  
viii. Compound interest  
ix. Ratio and Proportion. 
x. Average  
xi. Ages  
xii. Data Interpretation  
xiii. L.C.M & H.C.F  
xiv. D.P & I.P – Time & Work – Pipes cistern 
xv. Time & Distance, Problems on Trains, Boats  
xvi. Mensuration – Formulae  
xvii. Mensuration – 2D 
xviii. Mensuration – 3D  
xix. Permutation & Combination Basic, Alligation & Mixture  
xx. Statistics & Probability  
xxi. Logarithm, Visual Reasoning  
xxii. Geometry, & Co-ordinate Geometry  
xxiii. Basic Algebra, &  Trigonometry  
xxiv. Mathematical Operations, Puzzles, Clocks, calendar 
xxv. Logical Reasoning (Coding & Decoding, Directions, 

Ranking, Alpha Numberic series, Blood Relation)  
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Chapter Wise Analysis (Previous year Paper) 

 



 

4 | P a g e   APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
BOOK SOURCE SPLIT UP  

 

S.No TITLE STD NEW OLD TERM Exercise 

 
 
 
 

1. 

 
 
 
 
Simplification  

6th New book  Term 1 1.3  

7th Old book Term 1 1.1 to 1.8 

7th New book Term 1 1.1 to 1.6  

8th Old book Term 1 1.1, 1.2, 1.3  

8th New book Term 1 1.1, 1.2  

9th Old book  2.2  

9th New book Term 2 3.2 

10th Old book  3.11 

10th New book  3.4, 3.5, 3.6 

 
2. 

 
Surds & Indices  

8th Old book Term 1 1.4 

9th Old book  2.5, 2.6  

9th New book Term 2 2.1 to 2.4  

 
 

3. 

 
 
L.C.M. / H.C.F  

6th Old book Term 1 2.5, 2.6  

6th New book Term 2 1.2, 1.3  

9th New book Term 2 3.9 

10th Old book  3.6, 3.7, 3.8 

10th New book  3.2, 3.3 

4. Square & Cube 
Root 

8th Old book Term 1 1.5 to 1.7 

 
 

5. 

 
 
Percentage  

7th Old book Term 3 2.1, 2.2, 2.3  

7th New book Term 3 2.1, 2.2, 2.3  

8th Old book Term 3 1.1 

8th New book Term 2 1.1 

 
 

6. 

 
 
Profit & Loss  

6th New book Term 2 3.1, 3.2  

7th New book Term 3 2.3 

7th Old book Term 3 2.4 

8th New book Term 2 1.1 

8th Old book Term 3 1.1  

 
7. 

 
Ratio / Proportion 

6th New book Term 1 3.1 to 3.5 

6th Old book Term 2 1.1 to 1.3 

7th Old book Term 2 1.1 

 
8. 

 
Simple Interest  

7th Old book Term 3 2.5 

7th New book Term 3 2.4, 2.5 

9. Compound Interest  8th Old book Term 3 1.4, 1.5, 1.6 

8th New book Term 2 1.3 

  7th Old book Term 2 1.1 
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10. 

 
Time & Work 
DP/IP  

7th New book Term 1 4.1, 4.2, 4.3 

8th Old book Term 3 1.7, 1.8 

8th New book Term 3 2.1, 2.2 

11. A.P & G.P 10th Old book  2.1 to 2.7 

10th New book  2.4 to 2.10 

 
 
 

12. 

 
 
 
Area 

6th Old book Term 3 3.1 to 3.4  

6th New book Term 3 3.1, 3.2  

7th Old book Term 2 2.1 

7th New book Term 2, 
1 

(2.1 to 2.4) 
both 

8th Old book Term 1 2.1, 2.2 

8th New book Term 1 2.1 to 2.4  

9th Old book Term 3 4.1  

 
 

13. 

 
 
Volume 

9th Old book Term 3 4.2 to 4.4 

10th New book  7.1 to 7.5 

10th Old book  8.1 to 8.4 

9th New book Term 3 4.1 to 4.5  

 
 

14. 

 
 
Algebra 

10th  Old book  3.1, 3.2, 3.4, 3.5 
(3.12 – 3.19) 

10th New book  3.1, (3.7 to 
3.14) 3.19  

 
 
 
 
 

15. 

 
 
 
 
 
Geometry 

6th Old book Term 3 4.1 

6th New book Term 1 
Term 2 

4.4 
4.1 

7th New book Term 2 4.1, 4.3 

8th Old book Term 3 2.2 

8th New book Term 2 3.1 

9th Old book Term 3 3.1, 3.2 

9th New book Term 2 4.3 

10th Old book  6.3 

10th New book  4.4 

 
 

16. 

 
 
Trignometry 

9th Old book Term 2 2.1, 2.2, 2.3  

9th New book Term 3 3.1, 3.2 

10th Old book  7.1, 7.2 

10th New book  6.1 to 6.5 

17. Logarithm 9 Old book Term 3 2.1 to 2.5  

18.  
Average  

9th  New book Term 3 5.1  

9th New book Term 2 5.1  

9th Old book Term 2  3.2  

19.  9th New book Term 3 Exercise 5.1 to 
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Probability  

5.3  

 9th Old book Term 3  Exercise 5.1 & 
5.2  

10th Old book  Exercise 12.1 – 
12.3  

10th New book  Exercise 8.3, 
8.4 & 8.5  

 
 
 
 

20 

 
 
 
 
Statistics  

7th Old book  Term III  6.1  

7th New book Term III  5.1 to 5.4 

8th Old book Term III  3.1 to 3.4 

8th New book  Term III  4.1 to 4.3 

9th Old book 
New book  

Term II  
Term II  

3.1 to 3.5 
5.1 to 5.4  

10th Old book 
New book  

 11.1 to 11.2  
81. to 8.5 
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Model Question Paper 
 

1. If P denotes +, Q denotes -, R denotes x and S denotes ÷, which of the 

following statement is correct 
a. 36R4S8Q7P4=10   b. 16R12P49S7Q9=200 
c. 32S8R9 = 160Q12R12   d. 8R8P8S8Q8=57 

P vd;gJ +, Q vd;gJ -, R vd;gJ x kw;Wk; S vd;gJ> ÷, vdpy; 
fPo;f;fz;ltw;wpy; vJ rhpahd $w;W? 
a. 36R4S8Q7P4=10   b. 16R12P49S7Q9=200 
c. 32S8R9 = 160Q12R12   d. 8R8P8S8Q8=57 
 

2. A clock seen on a mirror shows quarter to three.  What is the correct 
time shown by the Clock? 
a. 8 hours 15 minutes    b. 9 hours 12 minutes 
c. 8 hours 17 minutes   d. 9 hours 15 minutes 
xU fbfhuk; fz;zhbapy; ghh;f;Fk; NghJ Neuk; 3 kzp Mf 15 
epkplq;fs; cs;sJ vdf; fhl;LfpwJ vdpy; fbfhuj;jpd; rhpahd Neuk;? 
a. 8 kzp 15 epkplq;fs;    b. 9 kzp 12 epkplq;fs; 
c. 8 kzp 17 epkplq;fs;   d. 9 kzp 15 epkplq;fs; 
 

3. If the volume of a cube is 1000 cu.cm, then find its surface area? 
a. 100 Sq.cm b. 400 Sq.cm c. 500 Sq.cm d. 600 Sq.cm 
xU fdrJuj;jpd; fd msT 1000 f.nr.kP. vdpy; mjd; Gwg;gug;gpidf; 
fhz;f? 
a. 100 r.nr.kP b. 400 r.nr.kP c. 500 r.nr.kP d. 600 r.nr.kP 
  

4. A book contains 120 pages.  Each page has 35 lines.  How many pages 
will the book contain if every page has 24 lines per page? 
a. 170 Pages b. 180 Pages c. 175 Pages d. 185 Pages 
xt;nthU gf;fj;jpYk; 35 thpfisf; nfhz;l Gj;jfj;jpd; nkhj;jg; 
gf;fq;fs; 120 vdpy; xt;nthU gf;fj;jpYk; 24 thpfshf ,Ue;jhy; 
mg;Gj;jfj;jpd; nkhj;jg; gf;fq;fs; vj;jidahf ,Uf;Fk;? 
a. 170 gf;fq;fs; b. 180 gf;fq;fs; c. 175 gf;fq;fs; d. 185 gf;fq;fs; 
 

5. 12 men can complete a work in 36 days.  In how many days will 18 men 
finish the same work? 
a. 16  b. 24  c. 26  d. 54 
12 Ml;fs; xU Ntiyia 36 ehl;fspy; nra;J Kbf;fpd;wdh;.  mNj 
Ntiyia 18 Ml;fs; vj;jid ehs;fspy; nra;J Kbg;ghh;fs;? 
a. 16  b. 24  c. 26  d. 54 
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6. The product of two numbers is 432 and their LCM and HCF are 72 and 
6 respectively.  If one of the numbers is 24, then find the other number? 
a. 16  b. 18  c. 22  d. 36 
,U vz;fspd; ngUf;fw;gyd; 432 kw;Wk; mitfspd; kP.rp.k. kw;Wk; 
kp.ngh.t. KiwNa 72 kw;Wk; 6 MFk;.  mt;ntz;fspy; xU vz; 24 
vdpy; kw;nwhU vz;izf; fhz;f? 
a. 16  b. 18  c. 22  d. 36 
 

7. Find the total amount if 15% of it is Rs. 3000? 
a. Rs.18,000  b. Rs. 20,000 c. Rs. 21,000 d. Rs. 25, 000 
xU njhifapd; 15% vd;gJ &.3000 vdpy; mj;njhifiaf; fhz;f? 
a. &.18,000  b. &. 20,000  c. &. 21,000  d. &. 25, 000 
 

8. In a class, 40% of students are boys.  60% of girls are rank holders. 40% 
of students are rank holders. Find the number of boys with rank, if class 
strength is 50? 
a. 2  b. 4  c. 6  d. 8  
xU tFg;gpy; 40% Ngh; khzth;fs; 60% khztpfs; juk; ngw;wth;fs;. 
nkhj;j khzt> khztpah;fspy; 40% juk; ngw;wth;fs;.  tFg;gpd; 
nkhj;j khzt> khztpah;fspd; vz;zpf;if 50 vdpy;> juk; ngw;w 
khzth;fspd; vz;zpf;if vd;d? 
a. 2  b. 4  c. 6  d. 8  
 

9. Arun drives 120 miles at 60 miles/hr and then drives the next 120 miles 
at 40 miles/hr. What is his average speed for the entire trip? 
a.42   b. 48  c. 50  d. 54 
mUz; vd;gth; xU thfdj;ij 60 iky;fs;/kzp vd;w Ntfj;jpy; 120 
iky;fs; Xl;Lfpwhh;. gpd;dh; 40 iky;fs;/kzp vd;w Ntfj;jpy; mLj;j 
120 iky;fs; Xl;Lfpwhh; vdpy; nkhj;jj;jpy; mtuJ ruhrhp Ntfk; vd;d? 
a.42   b. 48  c. 50  d. 54 
 

10. In a flower garden, there are 23 rose plants in the first row, 21 in the 
second row, 19 in the third row and so on.  There are 5 rose plants in 
the last row.  How many rows are there in the flower garden? 
a. 12 rows  b. 10 rows  c. 11 rows  d. 13 rows 
xU g+e;Njhl;lj;jpy; Kjy; thpirapy; 23 Nuh[hr; nrbfs;> ,uz;lhk; 
thpirapy; 21 Nuh[hr; nrbfs;> %d;whk; thpirapy; 19 Nuh[hr; nrbfs; 
vd xU njhlh; thpir mikg;gpy; cs;sd.  filrp thpirapy; 5 
Nuh[hr; nrbfs; ,Ug;gpd; mg;g+e;Njhl;lj;jpy; vj;jid thpirfs; 
cs;sd? 
a. 12 thpirfs; b. 10 thpirfs; c. 11 thpirfs; d. 13 thpirfs; 
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11. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31.  Find 
the value of x? 
a. 35  b. 36  c. 25  d. 26 
18, 41, x, 36, 31, 24, 37, 35, 27, 36 ,tw;wpd; ruhrhp 31 vdpy; x ,d; kjpg;G 
vd;d? 
a. 35  b. 36  c. 25  d. 26 
 

12. Which one of the following numbers is exactly divisible by 11? 
a. 235641  b. 245642  c. 315624  d. 415624 
fPo;f;fz;l vz;fspy; 11 My; kPjpapd;wp tFgLk; vz; vJ? 
a. 235641  b. 245642  c. 315624  d. 415624 
 

13. What is unit digit in the product 784 × 618 × 917 × 463? 
a. 6  b. 2  c. 4  d. 8 
784 × 618 × 917 × 463 vd;w ngUf;fy;fspy; xd;whtJ ,yf;fk; vd;d? 
a. 6  b. 2  c. 4  d. 8 
 

14. Find the compound interest on Rs. 1,000 at the rate of 10% per annum 
for 18 months when interest is compounded half-yearly? 
a. Rs. 157.62 b. Rs. 157.63 c. Rs. 157.61 d. Rs. 157.60 
miuahz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; &.1000-f;F 
Mz;L tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;Ff; $l;L tl;b fhzTk;? 
a. &.157.62  b. &.157.63  c. &.157.61  d. &.157.60 
 

15. If the rate of Compound interest is 12% per year and compound interest 
is calculated every 3 months, then what is the total amount after 9 
months when the deposited amount is one lakh? 
a. Rs. 1,09,000.00     b. Rs. 1,09,060.00  
c. Rs. 1,09,060.30    d. Rs. 1,09,272.70 

$l;L tl;b tPjk; Mz;Lf;F 12% vd;w tPjj;jpy; 3 khjj;jpw;F xU Kiw 
fzf;fplg;gLk; vdpy; xU yl;r &gha; nrYj;jg;gl;l gpd; 9 khjk; 
fopj;J nkhj;j njhif vt;tsT? 
a. &. 1,09,000.00     b. &. 1,09,060.00  
c. &. 1,09,060.30    d. &. 1,09,272.70 

 
16. If A:B = 4:6, B:C = 18:5, Find the ratio of A:B:C? 

a. 12:18:5  b. 12:5:18  c.18 : 12 : 5  d. 5 : 18 : 12 
A:B=4:6, B:C=18:5, vdpy; A:B:Capd; tpfpjj;ijf; fhz;f? 
a. 12:18:5  b. 12:5:18  c.18:12:5  d. 5:18:12 
 

17. How many numbers are there between 200 and 400 which are exactly 
divisible by 3, 5 and 6? 
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a. 8  b. 9  c. 7  d. 6 
200-f;Fk; 400-f;Fk; ,ilNaAs;s ,ay; vz;fspy; 3>5 kw;Wk; 6 Mfpa 
%d;W vz;fisf; nfhz;L kPjpapd;wp tFgLk; vz;fs; vj;jid? 
a. 8  b. 9  c. 7  d. 6 
 

18. In a class of 80 students, 65% are boys.  Find the number of girls? 
a. 35  b. 28  c. 52  d. 38 
80 Ngh; nfhz;l tFg;giwapy; 65% Ngh; Mz;fs; vdpy; ngz;fspd; 
vz;zpf;if vj;jid? 
a. 35  b. 28  c. 52  d. 38 
 

19. Choose the best alternative of white: Peace :: Red: ________? 
a. Roses  b. Heart  c. Violence  d. Danger 
kpfr; rhpahd xd;iwj; Njh;e;njLj;J nghUj;Jf: 
nts;is: mikjp : : rptg;G : _________? 
a. Nuh[h  b.,jak;  c. td;Kiw  d. mghak; 
 

20. Rs.120 is divided among A, B and C such that A’s share is Rs.20 more 
than B’s and Rs.20 less than C’s.  What is B’s share? 
a. Rs. 10  b. Rs.15  c. Rs. 20  d. Rs. 25 
A, B kw;Wk; C vd;w %d;W egh;fs; &.120 – I gfph;e;J nfhs;Sk;NghJ> 
A-d; gq;F B–d; gq;iftpl &.20 $LjyhfTk;> C-d; gq;iftpl &.20 
FiwthfTk; ,Ue;jhy; B-d; gq;F vt;tsT? 
a. &. 10  b. &.15  c. &. 20  d. &. 25 
 

21. If the sum of two numbers is 24 and their product is 108, then find the 
sum of their reciprocals? 
a. 2/9   b. 3/7  c. 5/7   d. 9/2 
,U vz;fspd; $Ljy; 24 kw;Wk; mtw;wpd; ngUf;fy; 108 vdpy; 
mt;ntz;fspd; jiyfPopfspd; $Ljy; fhz;f? 
a. 2/9  b. 3/7  c. 5/7   d. 9/2 
 

22. Find the rate percent per annum when a principal of Rs. 5000/- earns a 
S.I of Rs. 1600 in 16 months? 
a.20%  b. 22%  c. 18%  d. 24% 
&.5>000 mrYf;F 16 khjq;fspy; &.1>600 jdptl;b fpilj;jhy;> tl;b 
tpfpjj;ijf; fhz;f? 
a.20%  b. 22%  c. 18%  d. 24% 
 

23. The population of a village has a constant growth of 4% every year.  If 
its present population is 32448.  What was the population two years 
ago? 
a. 31424  b. 28868  c. 30000  d. 31242 
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xU fpuhkj;jpd; kf;fs; njhif xNu rPuhf xt;nthU Mz;Lk; 4% $bf; 
nfhz;Nl nry;fpwJ. ,g;nghOJ mjd; kf;fs; njhif 32>448 vdpy; 
,uz;L Mz;LfSf;F Kd; kf;fs;njhif vd;dthf ,Ue;jpUf;Fk;? 
a. 31424  b. 28868  c. 30000  d. 31242 
 

24. The area of a quadrilateral is 525 sq.m.  The perpendiculars from two 
vertices to the diagonal are 15m and 20m.  What is the length of this 
diagonal? 
a. 25m  b. 30m  c. 35m  d. 45m 
xU ehw;fuj;jpd; gug;gsT 525 r.kP mjd; ,U cr;rpfspypUe;J 
%iytpl;lj;jpw;F tiuag;gLk; nrq;Fj;jpd; ePsq;fs; 15kP> 20kP vdpy; 
%iytpl;lj;jpd; ePsnkd;d? 
a. 25 kP  b. 30 kP  c. 35 kP  d. 45 kP 
 

25. A wire can form a square of area 36 sq.cm. what is the area of rectangle 
when the same wire forms a rectangle in which one side is 2 cm? 
a. 12cm2   b.18 cm2  c. 20 cm2  d. 24 cm2 

xU fk;gpahdJ rJu tbtj;ij cUthf;Fk; nghOJ mjd; gug;gsT 36 
r.nr.kP. mNj fk;gpiaf; nfhz;L 2 nr.kP. xU gf;f msT cila xU 
nrt;tfj;ij cUthf;Fk;NghJ mr;nrt;tfj;jpd; gug;gsT vd;d? 
a. 12 r.nr.kP  b.18 r.nr.kP  c. 20 r.nr.kP  d. 24 r.nr.kP 
 

 
 

 

 

 

 

 

 

 
 
 
 

 


